All children should know all the times tables up t0 12x and be able to say the answer in under 5 seconds.
You should be able to complete 1 challenge in under 5 minutes. Highlight the ones you struggle with and
try to learn them!

Ultimate Times Table Challenge 2

Ultimate Times Table Challenge 1 Name: Number Correct:
Name: Number Correct: “‘-J"’“ H-ki:-lj
ame: umber Time: Previous Score: i'- .l -’h““- . ) o=
_ g Y “t}*ﬂi;:j‘s. :

Time: Previous Score: - e )T o=

a4 = G =10 = 12 %12 = 11%7 = Tx3= 12 = 4 =
1=1= 11 = 12 = 10= 12 = Juh = 1=9= Tuls= Ix1= G w &y = fx5= 5xf= dx9= gdx3=
1*5= 1=2-= 2x5-= 4x1-= 2%9-= 4eb= 5x2= Ix7= G =11 = 58 = 5 %4 = 12 = 10 =
3xi- 3x3- gxiz- 3%7 = bx1- dxil- b u b= 8« 11-= 6x8= 9x4= 12 % 11 = Gk
1x4= 43 13- I1=7= 49 3=9= 10x6= Tx5= 9 x10= 1x8= 3xb= 9x2=
5x1-= gx9= 5x5= 8x12= 2x7 = 5 x 11 = van i ol el 2ea- el oo
0= 3= G=3= 1=11= 2=11= 11 =11 = 1=7=

Bx2= 8= 10= 7x7= Tx9= Ix9= 9 x4 =
5x3= 9x7-= Tx5= Tx7= 7%9= 10 % 5 =

5x3= x2= Bxl= 3x10= b= 2x7=
B=]1= 10=1= ExT= bx5 = =g = B=x11=

10x3= Gx5= 9x9= 9xf= Tx7= Bx5=
9x1= 9x3-= 3%x10= 9xg= %7 = Bx7=

12x1-= 12 %6 = 12 %3 = Ixh= 12 x 12 = Ixg=
11 =9 = Hx§ = Hxl1l= 10 = T = 10= 9 = 10= 11 =

Ixp= 3x3= 10 % 12 = ExE= 6x3= B b=
11=1= 11=3 = 11=5= 2x3= 4= 11 = Bxh5=

11 x4 = Bxd= BxT= 2x7= Bx7= 11 %9 =
12=5= 12=12 = Exi= 12=7 = 12=9 = 12 =11 =

Fx2= Gox gy = 3x10= 12 = 11 = 4 =10 = Gx7=
2=1= = 3= HxT = 1=12 = 1= 10= Tx3s=
2x2= 9x11= 256 = 2x8= 2x12= 7x6= arac wxi- nrEs 2reT Brac Prac

§ » § = 5§ = s F= 2=8= T &= L= 5=
11 % 4 = Ix b= 5 %09 = 12 %2 = 2% 4= 1%6=
he e 4l b g 6o 4 e 10 - A 11x9= 11%3= 9x5= Bx3= 9x5= Tx3=
5x2= 10x2= 12%1= 5x8 = 34 = 7 %11 = Axd= gra= dxh= 117 = 12=b= bxh=
T4 = x4 = 6x6= 12%3 = 6x2= B x4 = iri= e Brac ire= irds ta=2-=
?!2= q!2= 211ﬂ= 511ﬂ= 1‘&= 5"t|= 5=10= G=11= 5= §= 11=8-= G=f= G=5=
Txg= &= 10 = 12 = 10 = 12 = &4 = 8= 10 = Bx2= J=2= b= 6= 12 = 4 = 12=12= 5=12= T=7=
10 = &4 = O ow ol = Qw12 = G xf = 12 = 8 = Bx&= Tuls= 10 =5 = S5=2= 5=3= 4= 3= 12 = 8 =
11 = & = Qwh= 10 & = =2 = how 12 = G w10 = Bu5= G=3= B=1= Z2xh= T=h= Ix=8=
11 = 2 = w12 = Fxl12= 11 = 8§ = 11 = 10 = Bx§ = 11 =2 = Qu3= 2=T= G=3= 11 =& = 5=3=
T=12= 10 = 10 = 12 = h= T =10 = 4= § = 10 = 8§ = 5% 12 = 10 = 10 = 12 =7 = gxZ= 8xg= 12 = 12 =




Ultimate Times Table Challenge 1 Answers

Ultimate Times Table Challenge 2 Answers

rritt 11-12-132|10~12-120|3~5° 18 Lr9-9 it 224=8 5%10=40 |12x12=14& |11x7=77 |T=3=21 12 % 4 = 48
1re57s 1rec? crs-ie hrich Zrv-18 hr5-20 3x1=3 6% & =26 6 x5=30 5% 6=30 8x9=72 8x3=264
ir1c3 S gri2-108 |3-7- 1 fri-é irii=as 5 x2=10 3=7=21 Gx11=44 |5x8=40 5 x4 =20 12 * 10 = 120
1racs hrit1z tr3-3 11=7-77 |4=9=36 e G h=16 8%11=88 |6=8=48 G x4 = 36 12 % 11=132 |4 = 4 = 16
nri=s fro-m 2r52s Brx12-96 |2-7-14 Gx1l=58 10x6=60 |7x5=35 9x10=90 |lxB=8 Ix6=18 5 x2=18
10x3=30 |6x3=18 1x11=11 |[2=11=22 [11%11=121[1%x7=7 v i-8 o - 18 - 12 27672 laro-as s
5x3=15 9 %7 =63 7x5=35 7x7 =49 7x9 =63 10 * 5 = 50 e 2-1s 5210280 l7x7-a9 o< es S o- a7 T,
8x1=8 10x1=10 |[5=7=35 6x5=30 3x8=24 gx11=88 . 6712 B 1-8 1 x10-30 laxo-24 714
irl1=9 ixd=2 3x10=30 |9~9=81 Axy=318 |Ax7=54 10%x3=30 |4x5=20 |9x%=8B1 |9x6=56 |TxT=49 |8x5=40
11%9=99 |6x8=48 6x11=66 |10x7=70 |10x9=90 |10=11=110 17x1-12 |1228-72 l12-3-36 |3.4-12 12 x 17 = 164 |3 x 4 < 12
11%*1=11 ([11=3=33 |[11x5=55 |2x3=8 Gx11=4% |8=5=40 3 e b~ 18 1e3-9 10x17-120 | 8x 866 |6x3-18 o x b 36
12x5=60 |12 =12 =144 |5 =4 =20 12=7=86 |12x9=108 |12 11=132 11xb=4% |Exg =33 I 27 =2k A 1129 =099
2x1=2 Bx3=24 6 =7 =4h2 1=12=12 |1=10=10 |T=3=21 7x2=14 4% 4 =16 3x10=30 [12%11-132 [4=10=40 |4 =7 =28
2x2=4 9x11=99 |2x6=12 2x8=16 2x12=26 |Tx6=42 B x 3 =24 10x7=70 |sxa-<s0 —-— 3x37-18 -
11 =6 =64 |3x4=12 5 x9=45 12x2=264 |2x4=8 1x6=8 45 =30 5«5 =25 3x3-4 2 %8 =16 7 x4 =28 S x5 =25
Gx2=8 b o= 16 o= b =24 b= G =56 4x=10=40 |9 =5=A45 11%9=99 |11=3=33 |9x5=45 8x3-=24 9 x5 =45 Tx=3=21
5x2=10 10%2=20 ([12%1=12 |[5=x8=40 Ix6=18 7x11=77 4% 3=12 9 %4 =36 3x4=12 11x7=77 |12x6=72 |6x4-24
7x4=28 6 x & = 24 6x6=36 12x3=36 |6=2=12 g x4 =32 g x2=18 Te1=7 8 =4=32 - - 12 % 7 = 24
7x2=14 9x2=18 2x10=20 |[5=10=50 |l1=8=8 5x6 =30 5.10-50 |6x11=686 |5=9=45 11x8-=88 |8=8<=a8 9 x5 = &8
7+8=56 6x«10=60 |12x10=120|12x4=48 |8x10-=80 |Bx=2=-16 Ix2=8 6% 6 =36 12x4 =48 [12x12-144 [5x12=60 |T=7=49
10=4=60 |9x4=36 3x12=36 |9=8=72 12x8=96 |8=6=48 7=3=21 10=5=50 |[5=2=10 5x3=1§ 4x3=12 12 % 8= 96
11=6=66 |9x6=54 10x6=60 |Ix2=6 4x12=48 |9 =10=90 8 x5=40 6=3=18 gx1=9 2x6=12 Tx6=42 Ix8=264
11%2=22 |6%x12=72 |5x=12=60 |11=8=88 |11=10=110 |8 =G - &4 11=2=22 |[9=3=27 2x7=14 §x3=27 11x6=66 |5=3=15
7x12-84 |10x=10-100|12x6=72 |7x=10=70 |4 =8 =32 10 * 8 = 80 5%12=60 |10x10=10012=7=8& |8x2=16 8 x4 =32 12 = 12 = 144
i

-




